
-1' 01.{9p

Qum{fipwmnrft' Pbnnh hwfut0pwwbnuftitE,:;,, t ; ' )'.r"

dnugnh <<trhpEh hrur-huStBurqhrnurpurblr ur2|ururnur\urqd1):ffirittrulhprqlrh
whluhm[n ' lirunrurlurnrruburtr hhrltnunlrh irrurrhptrhnh hrurlurn lnu]uruuhurhub qlintiltlhn

01.r01.01,51

4{ttJw
fr dl,A

Atzrlttlutfi
dtru{npp

Pufru
ltn

Eft4udh{rp
6tuluu
(+puttI]4h

-I.Z

Utttufindp

UuJnurfiphEn
4n uub&ru h wilr A {tm Bhn /426 I /

t 30197622 ranullo, A4 Snnriurtrrh qt untrh 2000 530 1250000

I 30192t21 clbnhtiurrlnn cnhl gt hurur 70 648 45360
3 30t92710 Unuhh& rnn qZ hurur 430 100 43000
4 39263410

Urlpurll
q2

un{r 100 45 4500
5 39253420 qt 300 30 9000

o 39263510
Uh4rfur\

+L mnuh 200 2G 4000
39263520 qt rnnrrh 320 15 4800

8 39263530 ql ulr-rh 400 10 4000

9 30197232
fargauqubur\" urgruqur\urp,

l}nrlllu
se hurur 60 680 40800

10 30197231 $rutt at urmrft 980 9S 88200
7t 30t97234 flnpuruurhurlr. lrnrur buoilnrl qe hurur 850 30 25500

t2 30199430
flnrrya h2ntl trhplr hrurturp,

brurrrh
qz hruur 180 100 18000

13 39263200-1 Qnuruhhrruhrurhh qhnp qz hurur 500 80 40000

74 30197111
rrruplrlir rlbtnruqurlurph

bunuhn rlrnpn
qt ulnL+ 90 60 5400

15 30192160 Grnnhh al t
=.4 hunn 250 30 7500

16 30x99230 Lullurlih bnur': qe hruu 30 100 3000
t7 3489232 Lrurfurbir bnurn qt hurur 15 156 2340
18 39263200-2 Anunluinbnr:rrhh qhnp qz hurtn 600 18 1"0800

19 30197331 'IurLht q, hutn 2000 5 10000
20 30197322 trurnhl qt hurur 1400 t7 23800

Cb4u{&?'tn .{J

e hhswa u4 ft& f4nryhp /tt267/
{ 39831210-1 urqurupJr 1 rJur$Iurb Llur&nlh ql 800 10 8000
2 3922]49A Urunr-trq, unftuh t durllrrr nr ql hunn 2s0 36 9000
3 33141118 uh&hnaqhhhhp qt hurtn 500 100 '50000



4 39831275
qnlqurptxhbhp| rtuppilutt

irlntBkn
qZ

1 1600 19 30400

5 39831245-1 &hnnhhhnntL odrun q2 hurur 3000 5 15000

5 39836000-1 unlhl qz hnnn 1300 80 104offi

I 33761000-1 qnr-qruprub.frpntq1a qa hruur 100 450 450m

8 398124lG1 gurhnq pfr rlrurllhghuh dfrgng qt hunn 800 45 36000

9 39812410-2 trur}nrlplr rlrur3lhgttuh .flttog q2 hurtn 2400 15 36000

L0 3S831273-1
hrurnur\fr drupprlurh
lrrme/rnnihtrulnh

q2, hurur 2500 I 22500

11 39831273-2
hururru\]r ilurpprftuh

hinrr*/qnnqbnh
SZ hurr.n 2000 6 12000

t2 39811300-1 onh hmnuirl hrn hnuuro hnbhr qe huun 500 10 5000

13 31531210-1 hhbunurlrertr runlur, qt hunn 100 z0t 20100

L4 3922433L nnln, rulurutniluruh SZ hurur 500 18 9000

15 39831240 unuurhh rlurpnhm rthqnq q2 hurrrr 350 36 12600

15 39831281-1 unu urli h rfupnhl nt I urp qt hturn 400 72 28800

17 39831282-1 bruhlup riurpnht nt i urro qz hurn 420 t2 30240

18 39831283-1 hurnurtr rlunnhlnt turo qe hunn 1000 tr1 72@0

19 18141100-1 d.hnhnq q2 hrurn 300 72 21500

20 19641000-1
u1n{rkp}r1htru1 f h qup\ ury{t

hr:lfurn
q2 hurur 500 45 22500

u. 15861100-1 Unrnd, r:rnruorub qe hq 2900 25 72500

22 15842110 trniiShurbqhh
qz hq 2500 20 s0000

23 15842310 q2 tq 1s00 20 30000

24 15863200-1 Ilhr qa ur:rrrfr 8s0 x5 12750

25 1s820000-1 Iulnnhnhh qe urnrrh 2500 60 150000

26 15981100-L : 9nr-n, uruurhtuJ ?2ilj,0,51 q2 ?b? 150 500 75000

27 15981200-1
Zurtrprul|rb gmp, tuqru\ur

ltml 0,51
qt zbz 200 350 70000

flf:4.ur.l"hhp -t:,f :i.€

Snurhuur nnurrlhh trtmBhn/4264/
t 0913220G1 trhlrqhtr (nhenl-trurni qt 400 3000 1200000

2 09411700-1 U hnrftlurb nhurturh ouro q2 tu.f 190 21000 3990000

Cf4tudhhp '<i

Auputnrytn{tfrtn

a 794!t270
I qhnuithplr hhur \rurqrlurb

loonhntl**dtt\ult
brunurtnronttrtrhn

uu qgurd 960000 ,| 960000

2 65311100-1 \h\rnpur\url.rntp; urtr

nurctunr-rf/421,2/
uu +purti 30000000 1 30000000

3 55211100-1 Qr.uohnurfunrrf uu nuunl 7670000 1 76700S

4 55100000-1
;9plr pur2]urfurtr tr 4purhLrn

\urultlrub
btunrrrr ni-ornrhLhn / 42!3 /

iuu 4Fur1i 40000 1 40000

5 64000000-1 rruirt h bunurtnrplm,Jul 4274 / uu nnuril 4510000 L 4510000



OnluurapturtfrgngbhPt] hhut

\urqrlrub urqurhnr[ruqgur\urir66511170-1

QFuiuhLJru\r:rllrtr uurPPtPlr It

uurppunlnpnr-rfuhptr UttPugbq
trnpnqlulh

107140m107{46q0
ru2]uruuurLptrhP /UPb {uPhP4

qlmqp 30\d
drutnuqruphhhptr/urt+ prlmrl
hurh4urdir2puh/ \urqfrmrul

45237177

$fr0. ur0nbuurqhmu.rqur0 pud&[ qhm

Qfrnul0bnh hurd wUurnqnt


